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1. Introduction
The non-simultaneous UL DL between n5 DL and n8 UL is one of the solutions to support the band combination of CA_n5-n8. And in RAN4#106bis-e, LS [1] was sent to RAN2 ask the question of whether the configuration of (UL, DL) = (n5+n8, n8) is supported by RAN2 signalling. And then in this meeting, RAN2 send reply LS [2] as below table with some further questions for RAN4 to clarify. This paper will discuss the supporting of non-simultaneous UL DL from RF perspective.

	1. Overall Description:
RAN2 discussed the RAN4 LS (R4-2306465) on non-simultaneous UL and DL from different two bands during UL CA. 
RAN2 would like to inform that current specification does not support configuring the scenario (UL, DL) = (n5+n8, n8) from RAN4 LS. 
The impact to RAN2 specifications on enabling the solution could not be determined yet and RAN2 would like some feedback to better understand the potential impacts for studying the potential solutions:
Question 1: Does RAN4 see problem if cross carrier scheduling is used in this scenario i.e. PCell (n8) scheduling SCell (n5)?
Question 2: What are RAN4 understanding regarding RRM measurements in this kind of scenario? Does UE need to measure the cell with UL only (n5) (e.g. for SCell addition/change/release purpose)?



2. [bookmark: _Hlk126176045]Discussion
Basically, our understanding is that the supporting of non-simultaneous n5 DL and n8 UL can be supported by configuration of (UL, DL) = (n5+n8, n5+n8), but NW can schedule the non-simultaneous of n5 DL and n8 UL, i.e. between status 1 (UL, DL) = (n5+n8, n8) and status 2 (UL, DL) = (n5, n5+n8). There seems nothing new compared to the non-simultaneous UL and DL in CA or ENDC. And in the Rel-15 when the non-simultaneous Tx Rx was introduced the FDD-FDD was one of the candidates there though finally it was excluded due to concerns of impact to FDD performance.

In RAN2 LS, it says the current spec doesn’t support “configuring” the scenario of (UL, DL) = (n5+n8, n8), but it doesn’t mean scheduling is not doable. It seems RAN2 was misunderstood of RAN4 intention. If possible RAN4 should clarify this to RAN2 instead of continue confusing them and let them go too far.

Observation 1:   RAN2 LS talked about “configuring” the scenario of (UL, DL) = (n5+n8, n8), however, this is not the intention of RAN4, or not the only way to support the non-simultaneous Tx Rx of n5 DL and n8 UL.

Observation 2:   The non-simultaneous Tx Rx of n5 DL and n8 UL can be supported by configuring (UL, DL) = (n5+n8, n5+n8), but schedule the non-simultaneous of n5 DL and n8 UL.

Proposal 1:   	The non-simultaneous of n5 DL and n8 UL is supported.

Proposal 2:   	Inform RAN2 that there is no need to support configuration of (UL, DL) = (n5+n8, n8), and the non-simultaneous n5 DL and n8 UL can be supported by configuring (UL, DL) = (n5+n8, n5+n8), but scheduling the non-simultaneous n5 DL and n8 UL.
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